ER-PR-ER RE-ER

14 REEHE

KB A EImLLE A= 60cmLl E3mKiH EAR=1E60cmE i

Ut R TYNEIAISY 2.0

U2 R TYNEIAISY 2.0

©1 =R AXITTa 30 0.15
Br |k [axwyr [ as[ [EmicsvmEE |
vi =K FAI<RHFHS 4.7 0.27
L\6 =A hAIh4A4Tx 3.0 0.38
L\7 = hAIhA4Tx 3.0 0.38
LM =A hAIh4Tx 4.0 0.38
LV13 = hAIh4A4Tx 3.0 0.38
L\14 = HAIh4TF 30 0.38
L) = HAIh4TF 3.0 0.39
LV5 = HhAIhA4Tx 3.0 0.41
L)2 = HAIh4TF 30 0.42
L)3 = HAIh4TF 30 0.42
L4 = HAIh4TF 30 0.42
L\5 = HAIh4TF 30 0.42
L\8 = HAIh4TF 30 0.42
LV12 = HhAIhA4Tx 3.0 0.42
LM10 = HhAIhA4Tx 3.0 0.45
L\9 = HAIh4TF 3.1 0.48
hi = h¥/x 30 0.15
h2 =R h¥/% 3.0 0.30
77 R h/FIL+F 0.7

72 R h/FIL+F 0.7

73 R h/FIL+F 0.7

F10 =] VLS 55 0.90
F11 =] VLS 6.0 1.00
F12 =] VLS 6.7 1.10
J1 =] YO8 +EF 5.0 0.30
J2 =P JOH~EF 5.0 0.50
J12 =P HaOH=EF 48 0.60
J6 =P JOH~EF 5.0 0.80
J7 =P JOH~EF 5.0 0.80




14 REEHE

EA-hR-HER

ME—ER

MEAR=HBEImLE BAR=BFH60cmLl L3mkKiH 1KEAR=1=60cmkiiE

No E 5 g = S(m) BRAGEARDH) =

J8 =K HOHRETF 5.0 0.80
J4 =A HOHRETF 4.0 0.90
J9 5K HOHRETF 45 0.95
J10 (= N HOHRETF 45 0.95
J3 =K HOHRETF 43 1.10
(&1 R Hya<y 2.5

M1 R Ho3Ta 2.8

M2 R Hodoa 2.5

M3 R Hodoa 2.5

M4 R o322 2.0

M6 R o322 2.5

M7 R o322 2.5

M13 R o322 2.0

M14 R o322 2.0

Mi15 R o322 2.0

M8 =R o322 3.0 0.60
Mi17 =R o322 3.0 0.60
M9 =R o322 3.0 0.80
M10 =R o322 3.0 0.80
M16 =R o322 35 0.80
M5 =R o322 3.0 0.85
M1 =R o302 3.0 0.90
e ek sy T [ [ewsessoroms|
Q1 AR v3ad 2.0

D1 =2p N YINE 1.0

ql =R koA T 5.0 0.30
Z2 =R RStFrariox 3.0 0.50
Z1 =R RStFrariox 35 0.60
m A Puvsx T so[ 0 oso[Emmemsorsmz|
n3 (SN P RVA A 4.0 0.30
nb (SN P RVAJASS 3.0 0.30
n4 (SN P RVAJASS 45 0.40
e [ Emx  Povsx [ 80| oso[Emmemsorskz|
S6 =R FRAIEF 3.0 0.27
S1 R FrRAIEF 2.5

52 R FrRAIEF 1.5

S3 R FrRAIEF 1.5

S5 R FrRAIEF 1.6

S7 R FrRAIEF 1.7

S8 R FrRAIEF 1.7

S10 R FrRAIEF 1.0

C1 =R A 5.0 0.40
t1 =2y N NS 1.0




ER-PR-ER RE-ER

14 REEHE

MEAREIMI L A=A E600m Bl L 3mk i AR A=A 600mE

No E 5 iiE BS(m) BERGEARDH) &5
ZE] =R TTINOA 3.2 0.30
V15 =R TTINOA 33 0.30
Vviz =R TTINOA 3.2 0.40
V27 =R TTINOA 3.0 0.40
Vi1 =R TTINOA 3.2 0.50
V18 =R TTINOA 45 0.50

V16 =P/ N TTNA 4.6 0.60
V17 =P/ N TTNA 4.6 0.60
V21 AR TTINA 20

V28 =P/ N TTINOA 3.2 0.60
V24 AR TTINA 25

% =K TTINA 48 0.70
V26 AR TTNA 25 1.20
V2 =K TTINA 49 0.70
ve | Bk [rFnvq4 [ so|  onEmsemsorsmx|
Vio =P/ N TTNA 4.0 0.80
V23 =P/ N TTINOA 33 0.80
Vi4 1= TTINA 5.2 0.90
V19 1= TTINOA 36 0.90
V20 =K TTINOA 3.4 0.90
V22 =K TTINOA 3.0 0.90
V25 =K TTINOA 3.0 0.90
Y1 AR T 1.2

y2 R T 2.0

Y3 R T 1.2

RI AR ax 1.2

R2 AR ax 22




FhHE-Z3F

%I!I

E-REX

14 REEHXE

XA AR=4Z60cm AL 3mK i (ER=1560cmKiE E=2F
= =(m) mE R (m) AR E R (m)

14 FAR AXYY 1.1 10.0 23.2
15 R AV 1.2 20.0 22.9
16 PR AV 1.1 1.0 5.4
A7 R AXIY 1.3 5.0 20.6
3 R D9FF+ 14 20.0 45.4
94 R DFFT 1.3 05 4.4
5 EXR 9FF 0.5 5.0

1 EAR YUY 0.5 40

8 R HYXIYD 0.6 40 8.8
39 EXR AV E A D 0.5 26.0

410 EXR HIXIYD 0.5 1.0

H11 =l N AV E A D 0.6 12.0 20.4
$12 R HIXIYD 0.8 2.0 5.2
%13 =P/ N AV E A D 0.8 40 16.8
414 ER YUY 0.4 1.0

15 EAR VALY 0.5 2.0

Y1 R THLSHFIID 0.6 10.0 11.4
V2 R ATHLFHFIIT 1.1 30.0 47.6
V3 R ATF LS FIID 15 3.0 9.0
Wz R AHA LY XYY 15 24.0 27.0
5 R THLSHFIID 1.8 2.0 12.8
6 R THLSHXIID 1.8 40 19.6
V7 R TH LS FIID 0.8 1.0 3.4
8 BEXR FALZYFIID 0.5 3.0

9 R TALSH IV 0.6 9.6 16.6 |BHbICKYEEF
K1 R NPE AN 15 1.0 1.0
k2 R (NP 15 1.0 1.0
K3 AR Nk BAVAI S 0.8 1.0 4.2
K4 AR (N PAA S 0.8 1.0 4.2
K5 AR (NP 0.8 1.0 4.2
~6 R (NP 0.8 1.0 4.2
K7 R (NP 0.8 0.7 34
~8 R (NP PR 0.8 0.7 3.4
K9 fR (N PR 0.8 0.7 34
K10 AR (NP 0.8 0.7 34
K11 R NPE AP 0.8 1.0 4.2
K12 PR (NP 0.8 1.0 4.2
K13 R (N PRSI 0.8 0.7 34
K14 B (NP 0.8 0.7 34
K15 R NPE AP 0.8 1.0 4.2
K16 PR (NP 0.8 0.7 34




14 REEHXE

FiE-

HE—ER

X H AR=15560cm L £ 3mR i EAR=E60cmRKit Z=ZF

No T8 E = =(m) mE(nd) K 5k m () HE
K17 R (N2 BAVAI S 0.8 1.0 4.2
K18 AR (NP 0.8 0.7 3.4
K19 FR (N2 AV 0.8 0.7 34
K20 AR (N PAA S 0.8 1.0 4.2
K21 AR (N PR 0.8 0.7 34
K22 R (NP 0.8 1.0 4.2
K23 R NPE PN 0.8 0.7 3.4
K24 PR (N2 SRRV 0.8 0.7 34
K25 R NPE PN 0.8 0.7 3.4
K26 R (NP 0.8 0.7 34
K27 R NPE PN 0.8 0.7 3.4
K28 PR (N2 SRRV 0.6 0.7 2.7
K29 R NPE PN 0.8 0.7 3.4
K30 R (N2 SRRV 0.8 0.7 34
K31 R NPE AP 0.8 0.7 3.4
K32 PR (N2 BRI 0.8 0.7 3.4
a1 EXR aAxvF¥ 0.5 1.0 Bk - K UEEF
a2 EAR aAFxvF¥ 0.5 1.0 BibICKURBEFE
a3 EXR AXYvFE¥ 0.5 1.0 BHbICEYEEF




BAR-ARER

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

AE—K

No T i Ba(m)  BRAGEAROH) s
Al7 thR ALY FIVD 0.6
S9 B R EF 0.7
J5 =P N YINE 3.0 0.18
Al6 thR AALSHFIID 0.9
A19 thR A LSHFIVD 0.9
A20 thR AALSHFIVD 0.9
A7 thR AALSHFIVD 0.9
K2 B R rRS 0.9
Al8 K A LTI UY 1.0
A21 K A LTI UY 1.0
A22 K A LTI UY 1.0
A4 K A LTI UY 1.0
S21 =R EF 3.2 0.20
B5 S h 40 0.20
G5 R waVE S AV 1.0
H1 hR )N 1.0
H6 hR )N 1.0
13 2]y N an 1.0
a3 =R ThAHLD 3.4 0.20
M =2l N aA 1.0
5 K <2l 1.0
K10 B R rRS 1.0
K11 =2 N rRS 1.0
K6 thR kRS 1.0
K7 thR kRS 1.0
K8 thR kRS 1.0
K9 thR kRS 1.0
P thR ESho 4 1.0
R3 thR R_AFAEF 1.0
77 (SN Evasy 35 0.20
J1 =R VIAE = 33 0.20
B33 K h 1.0
J2 =P VIAES 33 0.20
J3 =P VIAES 33 0.20
J4 =P VJAE S 33 0.20
al = A THAHLD 3.1 0.20
Al3 thR A LZHFIIY 1.1
Al4 thR A LZHFIUY 1.1
a2 =R THAHLD 3.1 0.20
J8 =P VJAE S 3.2 0.24
B37 =K he 35 0.25
b1 =A ART 3.4 0.26
S24 =K EF 3.0 0.28
S40 =A EF 39 0.28
%10 = A /% 7.0 0.28




BAR-ARER

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

AE—K

No TR HiiE Eam)  BAGADH) %
A11 =K E/& 7.0 0.28
Al5 R N e 1.1
A8 B R AF LZH IV 1.1
A7 =mA /% 7.0 0.28
%9 =mA /% 7.0 0.28
520 =mA EF 3.0 0.30
522 =mA EF 3.1 0.30
523 =mA EF 3.0 0.30
X1 = ohY 3.0 0.30
X2 = ohY 3.0 0.30
f1 R NZEPRNP 1.1
X3 = ohY 3.0 0.30
X4 = A ThY 3.0 0.30
X5 = A ohY 3.0 0.30
X6 = ohY 3.0 0.30
f2 R NZEPNP 1.1
X7 = A ThY 3.0 0.30
St R EF 1.1
X8 = A ohY 3.0 0.30
S4 AR EF 1.1
S7 FAR EF 1.1
J7 =2y N I 1.2
Al B R AF LZH UV 1.2
X9 =R IhY 3.0 0.30
X10 =R ohY 3.0 0.30
X171 =R ohY 3.0 0.30
G1 EXR WAVE VAL 0.4
All B R AF LZH UV 1.2
G2 BEXR WAVE VAL 0.5
G3 BEXR WAVE VAL 0.4
A3 hR ALY IID 1.2
A5 hR A LTI ID 1.2
A9 R ALY XUV 1.2
G4 =)/ N WAVE VAL 1.2
H2 =2y N A UM 1.2
K1 AR rRS 1.2
K3 AR rRS 1.2
A10 R ALY XUV 1.3
1 BEXR a0 0.5
2 BEXR a0 0.4
A2 R ALY TIID 1.3
R4 R NZNFAETF 1.3
R6 R NZNFAETF 1.3
S10 AR EF 1.3




BAR-ARER

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

AE—K

No TR HiiE Eam)  BAGADH) %
S5 R EF 1.3
X12 =mA ohY 3.0 0.30
X13 =mA ohY 3.0 0.30
Al12 th R AF LZH IV 1.4
A6 Bh R AF LY FUVYY 1.4
H3 R )N 1.4
M2 e FoTY 1.4
X14 =K ohY 3.0 0.30
S12 th oK EF 1.4
J10 AR YINF 15
X15 = IhY 3.0 0.30
X16 = IhY 3.0 0.30
R5 AR NPT AETF 1.5
S13 R EF 15
S35 AR EF 15
F6 hR HHoh 15
F7 hR HHoh 15
F8 hR HHoh 15
K4 EAR RS 05
F9 hR HHoh 15
F10 R HHh 15
F11 R HHh 15
F12 R HHh 15
F13 R YHh 15
M1 EXR FoTY 0.5
F14 R HHh 15
F15 R HHUh 1.5
F16 R HHUh 1.5
F17 R HHUh 1.5
F18 R HHUh 1.5
F19 R HHUh 1.5
F20 AR HH R 1.5
F21 AR HH R 1.5
F22 AR HH R 1.5
F23 AR HH R 1.5
F24 AR HHh 15
R7 EXR NZNFAETF 0.4
F25 AR HH R 1.5
F26 AR HH R 1.5
F27 AR HH R 1.5
F28 AR HHoh 1.5
F29 AR HHoh 1.5
F30 AR HHoh 1.5
F31 AR HHoh 1.5




BA-PA-ER BE-E

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

No TR HiiE Eam)  BAGADH) %
F32 AR HHh 15
F33 AR HHh 15
F34 AR HHh 15
F35 AR HHh 15
F36 AR HHh 15
F37 AR HHh 15
F38 AR HHh 15
X17 =mA ohY 3.0 0.30
X18 = A ohY 3.0 0.30
X19 = ohY 3.0 0.30
X20 = A ThY 3.0 0.30
F39 hR HHh 15
X21 = A ohY 3.0 0.30
X22 = A ohY 3.0 0.30
X23 = ohY 3.0 0.30
F40 hR HHh 15
F41 hR HHh 15
F42 hR HHh 15
X24 = A ohY 3.0 0.30
F43 R HHh 15
X25 =R IhY 3.0 0.30
cl [=% N AONEID 40 0.31
F44 R YHh 15
A8 =R /% 7.0 0.31
B35 (=N V% 3.4 0.32
538 =R EF 3.0 0.35
d2 =R I/% 44 0.35
S41 =R EF 48 0.35
B14 =K V% 40 0.38
B12 =K V% 40 0.40
72 =R Evay 3.0 0.40
J6 [=% N YINE 35 0.40
539 =K EF 38 0.42
B27 E=% N Hhy 5.6 0.42
F45 AR HHh 1.5
F46 AR HHh 1.5
B34 E=% N Hhy 40 0.42
B =R Hhi 40 0.44
S19 =K EF 34 0.50
F47 AR HHh 1.5
F48 AR HHh 1.5
F49 AR HHh 1.5
B16 =K Hhy 5.0 0.50
F50 ==/ N YHh 1.5




BAR-ARER

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

AE—K

No TR HiiE Eam)  BAGADH) %
B23 =K Hhi 48 0.52
F51 th R HHh 15
B20 =K Hhi 48 0.54
S3 =mA EF 45 0.55
537 =mA EF 45 0.56
B21 = A Hhi 48 0.58
B3 =K Hh 40 0.58
F52 AR HHh 15
F53 hR YHh 15
F54 hR HHh 15
F55 hR HHh 15
J9 == N YINF 1.6
R1 hR RZHhTFAEF 1.6
S6 AR EF 1.6
RI7 B R RZHhTFAEF 1.7
16 R > aA 1.8
K5 AR rRS 1.8
S14 AR EF 1.8
S18 AR EF 1.8
S2 AR EF 1.8
ET1 =P/ N 97 1.9
b2 hR AT 2.0
H4 FAR ) NA 2.0
H5 FAR ) NA 2.0
Q7 R ED 2.0
S15 FAR EF 2.0
S17 FAR EF 2.0
S8 FAR EF 2.0
S25 FAR EF 2.2
S30 FAR EF 2.2
S31 FAR EF 2.2
S1 AR F 2.3
S16 AR EF 2.3
534 AR EF 2.3
F1 AR HHh 2.4
F2 AR HHh 2.4
F3 AR HHh 2.4
F4 AR HHh 2.4
F5 AR HHh 2.4
73 AR Evay 25
532 AR EF 25
533 AR EF 25
R10 R NZNFAETF 2.7
R2 AR NZNFAETF 2.7




BA-PA-ER BE-E

15 BRIBBEREZHEHN

X A= 560cm AL 3mK i (ER=1Z60cmKiE E=2F

No TR HiiE Eam)  BAGADH) %
B19 K h 2.7
S36 PR EF 2.7
J11 ==p N YINE 2.8
J12 ==p N YINE 2.8
J13 ==p N YINE 2.8
J14 th R YINF 2.8
J15 ==p N YINE 2.8
J16 ==p N YINE 2.8
J17 hR YINF 2.8
J18 hR YINF 2.8
B32 K he 2.8
d1 AR /% 2.9
gl hR A 2.9
S26 = A EF 34 0.60
B13 =R he 5.0 0.60
B30 =R he 40 0.64
B4 =R he 45 0.64
529 = A EF 5.0 0.65
B11 =R he 5.2 0.65
B22 =K hy 48 0.66
B24 (=N V% 48 0.66
B28 (=N V% 40 0.66
B2 (=N V% 40 0.68
B31 =K V% 46 0.68
B17 (=N V% 40 0.70
B18 (=N V% 40 0.70
B26 (=N V% 5.6 0.74
528 =R EF 55 0.80
B29 =K V% 4.1 0.80
B36 =K V% 3.7 0.80
B15 (=N V% 6.0 0.85
(%2 =R EXSVRE 7.0 0.85
B25 =N Hh 5.7 0.86
(%1 =R EXSVRAYE 7.5 1.00
S527 =K EF 43 1.06
(%3 =R EXSVRAYE 8.0 1.16
wi =R INFAHY 44 2.10
el =R TN 12.0 2.50




FiE-Z2F

15 RIBSHERESREHN

HE-EX

XA AR=#E60cmELE3mR i (ER=4HE60cmKiE E=ZF

No ER BiE 7= =(m) m &) ek gt () HE
A1 R XUV D 0.7 3.0 9.4
A3 EAR N2 DAV D 0.4 10.0
#5110 AR U UID 0.8 10.0 27.6
~1 EXR FYTYID 05 48
~2 EXR FYIIYID 05 8.8
H11 BEXR HIXIYD 0.5 0.9
512 R HIXIYD 1.0 24.0 34.0
$13 R R W AVESAID 0.7 5.4 15.1
H14 R R W AVESAD 0.6 17.8 32.4
5115 SN W AVESVAD 0.6 24.7 376
512 hR WAVE VAL 0.7 4.0 11.0
515 R HIXIYD 0.7 2.2 5.8
716 R HIXIYD 0.6 2.8 2.9
A7 R HIXIYD 0.7 2.1 3.7
N2 hR Y<J% 0.7 7.0 22.0
yal R R W AVESVAD 0.6 145 25.0
H1 FAR ) NA 0.9 0.3 2.5
/N3 =)/ N vYIJx 0.9 45 15.1
71 R ATH LTI ID 10 2.7 9.9
75 th R v W N i i VA B 10 40 4.7
712 R AX LS FYID 1.0 15.0 34.0
9 R R WAVESAD 0.6 2.8 9.3
2 th R ) A 1.0 11.0 33.2
3 K )N 1.0 13.2 38.0
6 AR ) NA 10 10.2 32.6
+7 AR ) NA 10 42 14.6
8 R ) NA 10 45 145
310 R )N A 1.0 45 145
31 bR L PAAP 1.0 3.5 125
32 hR L DAV D 10 3.2 11.6
72 h R THLTHXIID 1.1 3.1 12.1
710 hR ATH LTI VD 1.1 9.6 239
711 R THX LS FIID 1.1 95 33.7
I\ th R Y<Jx 1.1 2.6 9.9
T4 R TX LS FIID 1.2 2.7 10.6
76 R THLTHXIVD 1.2 2.4 9.8
79 hR THLSHXIYD 14 28.8 64.0
77 hAR AXLZHFIID 15 125 35.0
78 hR ATH LTI ID 15 9.6 29.4
%5 AR ) NA 15 2.1 10.3
F1 R rRS 1.5 1.3 8.2
4 th R vl A 1.6 1.6 11.6
39 h R ) A 2.1 5.2 245
E1 a3 A1) 6.0
E2 s EEUELY) 6.9
E3 e 231)a 7.2
5116 BEXR WAVE VAL 0.3 5.9
H17 BEXR HIXIYD 0.3 3.0
5118 BEXR HIXIID 0.3 3.0
#5119 BER TIXIYD 0.3 05
$120 B W AVESAD 0.3 0.4
H21 R W AVESVAD 0.3 3.7
5122 EXR WAVE YA 0.3 2.4
#5123 EXR WAVE VAL 0.3 16.4
H124 BEXR HIXIYD 0.3 9.9
75125 EXR HIXIID 0.3 10.6
ERENT| WRAH |SH2EEMAD 359.6




EA-RR-ER RAE-ER

16 REBDEREZHEH

XEA=EEImULE PAR=1E60cmLl E3ImEiE EAR=4E60cm*E i

No EH g mem)  BEAGEADH) Lk
B R AXIY 15
H1 R INAH Y 1.2
H2 h AR INAHY 1.2
H3 AR INAHY 1.2
H4 h AR INAH Y 1.2
H5 AR INAHY 1.2
6 h AR INAH Y 1.2
7 h AR INAHY 1.2
H8 AR INAHY 1.2
£9 R INAHY 1.2
71 R ALY IID 1.2
73 R ALY IIY 0.7
74 R ALY IIY 0.7
75 R ALY IID 0.7
76 R ALY IID 0.7
77 R ALY IID 0.7
78 R ALY IIY 0.7
79 R ALY IIY 0.7
710 R ALY IID 0.7
711 R ALY IIY 0.7
712 R ALY IID 0.7
713 R ALY IID 0.7
714 R ALY IID 0.7
715 R ALY IID 0.7
716 R ALY IID 0.7
717 R ALY IID 0.7
718 R ALY IID 0.7
719 R ALY IID 0.7
720 R ALY ID 0.7
721 R ALY IID 0.7
722 R ALY IID 0.7
723 R ALY IID 0.7
724 R ALY IID 0.7
725 R ALY FIID 0.6
726 R ALY FIID 0.6
727 R ALY IID 0.6
728 R ALY FIID 0.6
729 EXR ALY FIID 0.4
LM =R HAZXHhA4TF 2.0 0.30
LV2 =R HAZXHhA4TF 2.0 0.30
L3 =R HAZXHhA4TF 2.0 0.30
LV4 =R HAZXHhA4TF 2.0 0.30
L5 =R HAZXHhA4TF 2.0 0.30
Q7 =R XA FIkD 3.5 0.40




EA-RR-ER RAE-ER

16 REBDEREZHEH

XEA=EEImULE PAR=1E60cmLl E3ImEiE EAR=4E60cm*E i

No EH g mam)  BEAGEADH) Lk
Q2 = FIaVFILD 3.5 0.40
Q3 =A FIaVFILD 3.5 0.40
E7 R FUEIEA 1.2
E8 R FUEIEA 1.2
F1 = Ve 2.0 0.30
F2 = HAR/ X 2.0 0.30
F3 =A HAR/ X 2.0 0.30
F4 = HAR/ X 2.0 0.30
gl =R Ry 6.0 1.50
g2 =R Ry 6.0 1.10
g3 =R Ry 6.0 1.30
g =R Ry 6.0 1.00
gb =R Ry 6.0 1.40
K1 (ST Y h 3.0 0.30
K2 (ST YHh 3.0 0.30
K3 (ST YHh 3.0 0.60
K4 (ST YHh 3.0 0.40
K5 (ST YHh 3.0 0.40
K6 R Y h 15
K7 R YHh 2.5
K8 =)/ N HJHh 2.5
K9 E)/ N S h 2.5
K10 E)/ N S h 2.0
K11 E)/ N JHh 2.5
K12 R HJHh 2.5
K13 E)/ N S h 2.5
K14 E)/ N S h 2.5
K15 E)/ N S h 2.5
K16 E)/ N JHh 1.0
K20 R S h 1.9
K21 E)/ N S h 1.2
K22 E)/ N S h 1.2
K23 R HJHh 1.2
K24 R HJHh 1.2
K25 R HJHh 1.2
K26 R HJHh 1.2
K27 R HJHh 1.2
K28 R HJHh 1.2
K29 R HJHh 1.2
L7 R TIXUID 0.6
L2 =)/ N AVE SV 0.6
L3 =)/ N W AVE SV 0.6
L4 =)/ N W AVE SV 0.6
L5 =)/ N AVE SV 0.6




EA-RR-ER RAE-ER

16 REBDEREZHEH

XEA=EEImULE PAR=1E60cmLl E3ImEiE EAR=4E60cm*E i

No EH g mam)  BEAGEADH) Lk
L6 EXR TIXIID 05
L7 EXR TIXIVD 05
L8 EXR TIXIID 05
L9 EXR TIXIID 05
L10 EXR TIXIID 05
M1 =R Hoa9a 35 0.40
M2 =R Hoa9a 3.0 0.40
M3 =R Hoa9a 3.0 0.40
M4 =R Hoa9a 3.0 0.40
M5 =R HodPa 3.0 0.40
M6 =R o322 3.0 0.50
N7 =R ohY 2.0 0.30
N2 =R ohY 2.0 0.30
N3 =R ohY 2.0 0.30
N4 =R ohY 2.0 0.30
j1 =R YA/ 8.0 1.80
j2 =R YA/ 8.0 0.90
i3 =R YA/ 7.0 1.10
4 =R YA/ 7.0 0.80
i8 =R YA/ 6.0 0.70
i9 =R YA/ 7.0 1.50
i10 =R YA/ 5.0 0.50
j11 =R YA/ 5.0 0.30
j12 =R YA/ 5.0 0.50
13 =R YA/ 6.0 1.20
j14 =R YA/ 2.0 0.30
m1 =R rohTT 5.0 0.90
d1 AR N2 BV D 1.0
d2 AR N2 BV D 1.0
d3 AR N2 BV D 1.0
d4 AR N2 BV D 1.0
d5 AR Ny BV D 1.0
dé PR NPEPANP 1.0
d7 PR NPEPANP 1.0
ds PR NPEPANP 1.0
d9 PR NPEPANP 1.0
d10 PR NPEPANP 1.0
di1 PR NPEPANP 1.0
d12 PR NPEPANP 1.0
d13 PR NPEPANP 1.0
Y R RRIEF 2.9
S3 R RrRIEF 1.2
S4 R RRIEF 1.2
S5 R RRIEF 1.2




EA-RR-ER RAE-ER

16 REBDEREZHEH

XEA=EEImULE PAR=1E60cmLl E3ImEiE EAR=4E60cm*E i

No EH g mam)  BEAGEADH) Lk
S6 hR FRAIEF 1.2
S7 R FRAIEF 1.2
S8 hR FRAIEF 1.2
S9 R FRAIEF 1.2
S10 R FRAIEF 1.2
St =P N RAIEF 1.2
A1 FAR EA1SFXEIEA 1.2
A2 FAR EA1SFXEIA 1.2
A3 FAR EA1SFXEIEA 1.2
A4 AR EASFXEIEA 1.2
A'5 AR EA1SFXEIEA 1.2
A'6 AR EA/SXEIEA 1.2
A7 AR EA1SXEIEA 1.2
A'8 AR EA1SXEIEA 1.2
A9 AR EA1SXEIEA 1.2
bt =R EXSVRE 7.0 1.00
% =R TTINA 40 0.68
V2 =R TTINA 35 0.30
V3 =R TTINA 40 0.50
V4 =R TTINA 40 0.50
7 =R TTINA 35 0.50
V6 =R TTINA 40 0.40
V7 =R TTINA 40 0.50
V8 =R TTINA 35 0.50
7 =R TTINA 35 0.40
V1o =R TTINA 2.0 0.30
Vi1 =R TTINA 2.0 0.30
Viz =R TTINA 2.0 0.30
Vi3 =R TTINA 2.0 0.30
Vi4 =R TTINA 2.0 0.30
wi =R Evay 35 0.40
w2 =R Evay 3.0 0.30
w3 (SN Evay 3.0 0.60
w4 (SN Evasy 3.0 0.30




FE-2F AE—ER
16 BEBEBERESHRESM
X hAR=1E60cml E3mEKiH EAR=#Z60cmKiH E=ZF
No ER HiiE ma(m) () AR EE(m) %

91 BEXR DF 0.4 05

92 EXR DF T 0.4 05

93 EXR DFFT 0.4 05

94 EXR DF T 0.4 0.5

95 KR DFFT 0.4 05

96 EXR DFFT 0.4 05

97 EXR DFFT 0.4 05

8 EXR DFFT 0.4 05

29 EXR DF T 0.4 05

210 BEXR DF T 0.4 05

911 EXR DFFT 0.4 0.5

712 BEXR DF T 0.4 05

1 thR HIXIYD 0.7 115 36.5
2 th R TIXIYD 0.7 0.5 2.0
3 KR IV 0.4 05

4 EXR WAVE SV 0.4 0.5

5 EXR HIXIYD 0.4 0.5

6 EXR I 0.4 0.5

7 EXR WAVE VAP 0.4 05

8 EXR HIXIYD 0.4 0.5

59 EXR I 0.4 05

510 EXR WAVE YA 0.4 05

B 11 EXR HIXIYD 0.4 05

12 EXR TIXIYD 0.4 05

13 KR I 0.4 05

14 EXR WAVE SV 0.4 0.5

U1 R THLSHFIYD 0.7 338 15.0
2 R FTHALZHXIVYD 0.6 5.4 11.7
V3 R THLSHXIYD 1.3 14 7.1
V4 th R THLSHFIYD 1 44 10.6
V5 R A LSHXIID 1 5.9 16.1
6 EXR XA LSHXFIYD 0.4 0.5

V7 EXR THLSHFIYD 0.4 0.5

8 EXR THLSHFIID 0.4 0.5

Y9 EXR THALZHXIVYD 0.4 05

Y10 EXR THLSHFIYD 0.4 05

Y11 EXR THLZHFIYD 0.4 0.5

Y12 EXR THALZHXIYD 0.4 05

Y13 EXR T LSHFIYD 0.4 05

V14 EXR THLZHFIYD 0.4 0.5

W15 ER THALZHXIVID 0.4 0.5

Y16 EXR T LSHXFIYD 0.4 05

V17 EXR THLSHFIYD 0.4 0.5

F1 R FoTY 0.4 05

+2 EXR FoTY 0.4 05

+3 EXR FoTY 0.4 05

F4 R FoTY 0.4 05

+5 EXR FoTY 0.4 05

+6 EXR FoTY 0.4 0.5

+7 EXR FoTY 0.4 0.5

+8 KR FoTY 0.4 05

+9 EXR FoTY 0.4 05

<1 EXR TAYY 0.4 05




FE-2F AE—ER
16 BEBEBERESHRESM
XA AR=1560cm Ll E3mK i (EAR=HE60cmKiE Z=2F
No E&R B = c(m) & (m) AR EE(M) 55

~2 EXR IAYYT 0.4 0.5
<3 EXR IAIT 0.4 05
<4 EXR IAYT 0.4 05
<5 EXR IAVT 0.4 0.5
<6 EXR IAIT 0.4 0.5
<7 EXR IAIT 0.4 05
<8 EXR IAVT 0.4 05
<9 BEXR IAYT 0.4 0.5
<10 EXR TAIT 0.4 05
<11 BEXR IAVY 0.4 05
<12 EXR IAYT 0.4 0.5
EYEU HERAH |[FHI0FEHEFH 189.6




BAR-ARER

17 SEEDEREZHEHN

XA AR=#E60cm L E3mK i EAR=#HE60cmKiE E=ZF

AE—K

No EH g &= <(m) BRAGEADH) Lk
B4 hR AV 0.6
B3 EXR AV 0.4
B5 R AXIY 0.6
B6 R AV 0.6
B7 R AXIY 0.6
L2 =2l N WAVE SV 0.6
B8 EXR AXIY 05
d32 fR NPE PP 0.6
d33 FR NPE PP 0.6
s AR a7<) 0.6
s2 =2]y N a5y 0.6
v5 AR SXF 0.6
B9 R AXIY 0.7
k1 =R EILY 47 0.12
z1 =R TIS5Fv> 35 0.15
S4 =R FRAIEF 3.1 0.25
f1 =R P 42 0.25
H1 =R RZHTFAETF 3.2 0.30
H2 =R RZHhTFAEF 3.2 0.30
H3 =R RZHhTFAEF 3.2 0.30
H4 =R RZHhTFAEF 3.2 0.30
H5 =R NPT AEF 3.2 0.30
J10 =R EF/F 3.0 0.30
wi =R EES 4.8 0.40
uf =R TAF) 6.0 0.45
LM10 =R HhAIh4Tx 4.0 0.45
LM =R HhAIh4Tx 4.0 0.45
LV12 =R HhAIh4Tx 4.0 0.45
B10 R AXIY 0.7
B11 R AXIY 0.7
B12 R AXIY 0.7
M1 R ALY XIVD 0.7
M2 R ALY XIVD 0.7
M3 R ALY XIVD 0.7
M4 R ALY XIVD 0.7
M5 R ALY XIVD 0.7
M6 R ALY XIVD 0.7
M7 R ALY XIVD 0.7
L7 EXR TIXUID 0.3
M8 R ALY XIVD 0.7
L3 EXR W aVE SV 0.4
L4 EXR W AVE SV 0.5
L5 EXR W aVE SV 0.5
L6 EXR W aVE SV 0.5




BAR-ARER

17 SEEDEREZHEHN

XA AR=#E60cm L E3mK i EAR=#HE60cmKiE E=ZF

AE—K

No EH g &= <(m) BRAGEADH) Lk
L7 EXR TIXIID 05
L8 EXR TIXIVD 05
M9 R A LZYFIID 0.7
L10 EXR TIXIID 05
L1 EXR TIXIID 05
L12 EXR TIXIID 05
L13 EXR TIXIVD 05
L14 EXR TIXIID 05
L15 EXR TIXIID 05
L16 BEXR TIXIVD 05
L17 BER TIXIVD 05
L18 BEXR TIXIVD 05
L19 BER TIXIVD 05
L20 BEXR TIXIVD 05
L21 BER TIXIVD 05
L22 BER TIXIVD 05
L23 BER TIXIVD 05
L24 BER TIXIVD 05
L25 BEXR TIXIVD 05
L26 %N TIXIVD 05
L27 BER W AVESAIE) 05
L28 BEXR WAVE SV 0.5
L29 BEXR WAVE SV 0.5
L30 BEXR WAVE SV 0.5
L31 BEXR WAVE SV 0.5
L32 BEXR WAVE SV 0.5
L33 BEXR WAVE SV 0.5
L34 BEXR WAVE SV 0.5
L35 BEXR WAVE SV 0.5
L36 BEXR WAVE SV 0.5
L37 BEXR WAVE SV 0.5
L38 BEXR WAVE SV 0.5
L39 EXR TIXUID 05
L40 EXR TIXUID 05
L41 EXR TIXUID 05
L42 EXR TIXUID 05
L43 EXR TIXUID 05
L44 EXR TIXUID 05
L45 EXR TIXUID 05
L46 EXR TIXUID 05
L47 BEXR W aVE SV 0.4
M10 R FTHALZHXIVD 0.7
M17 R FTHALZHXIVD 0.7
52 R RRIEF 0.7




BAR-PAR-ER RE—E

17 SEEDEREZHEHN

XA AR=#E60cm L E3mK i EAR=#HE60cmKiE E=ZF

No EH g &= <(m) BRAGEADH) Lk
Y1 AR T 0.7
d19 R NPE PP 0.7
y1 K X% 0.7
ds =P/ N NPEPNP 0.8
do =P/ N NPEPNP 0.8
d10 =P N NEEPNP 0.8
d11 =P/ N NPEPNP 0.8
d12 =P/ N NPEPNP 0.8
LV13 =A HAIhA4Tx 4.0 0.45
d13 AR NPE PP 0.8
d14 AR NPE PP 0.8
d20 AR NPE PP 0.8
LV14 =R HAIhA4Tx 4.0 0.45
d21 AR NPE PP 0.8
d22 AR NPE PP 0.8
LV15 =R HAIhA4Tx 4.0 0.45
d23 AR NPE PP 0.8
d24 AR NPE PP 0.8
d25 AR NPE PP 0.8
d26 AR NPE PP 0.8
d27 AR Nk DAV D 0.8
d28 AR N2 BV D 0.8
d29 AR N BV D 0.8
d30 AR N2 BV D 0.8
d34 AR N2 BV D 0.8
v4 AR SXF 0.8
L9 K WAVE SV 0.9
d4 AR N BV D 0.9
d5 AR N2 BV D 0.9
d6 AR N2 BV D 0.9
d7 AR N BV D 0.9
d15 AR Ny BV D 0.9
d16 PR NPEPANP 0.9
d17 PR NEPANP 0.9
d18 PR NPEPANP 0.9
d31 PR NPEPANP 0.9
y3 AR SXF 0.9
r1 AR LoYFxT 1.0
y2 AR SXF 1.0
d1 PR NPEPANP 1.1
d2 PR NPEPANP 1.1
d3 PR NPEPANP 1.1
t1 == N NS 1.1
D1 R DJAE = 1.3




BAR-PAR-ER RE—E

17 SEEDEREZHEHN

XA AR=#E60cm L E3mK i EAR=#HE60cmKiE E=ZF

No EH g &= <(m) BRAGEADH) Lk
U1 AR Hh¥ 1.3
4 =22}y N a0 1.3
wi K Evay 14
al AR 7oA 1.6
ql R YU 1.6
K2 R Y h 1.7
K3 R Y h 1.7
j4 R E = 1.8
y6 FAR X+ 1.8
K4 R Y h 2.0
K5 R YHh 2.0
K6 R Y h 2.0
K7 R Y h 2.0
J6 =R EF/F 5.0 0.50
J7 =R EF/F 5.0 0.50
J9 =R EF/F 45 0.50
K8 R YHh 2.0
e3 =R )4 42 0.50
i1 =R HILAARY) 4.8 0.50
Q2 AR FYIShY 2.0
a2 AR LS 2.0
x1 =2}y N k1) 2.1
Q3 R RV YN 2.2
S3 R RRIEF 2.2
K10 R HJHh 2.3
K9 R HJHh 2.6
u?7 =R TAF) 5.0 0.50
L3 =R HhAIh4Tx 4.0 0.50
LV4 =R HhAIh4Tx 4.0 0.50
L5 =R HhAIh4Tx 4.0 0.50
L\6 =R HhAIh4Tx 4.0 0.50
LV7 =R HhAIh4Tx 4.0 0.50
L8 =R HAIHh4T+F 4.0 0.50
L\ =R HAIHh4T+F 4.0 0.50
J8 (SN EF/F 45 0.60
B R ARXIY 2.7
K1 R HJHh 2.7
S5 R RRIEF 2.8
E3 R FUEIEA 2.9
Q4 R RV VM 2.9
X2 R E7 2.9
t2 == N NS 2.9
u3 =R TAFXY) 7.0 0.60
u4 =R TAFXY) 6.8 0.60




BAR-PAR-ER RE—E

17 SEEDEREZHEHN

XK AR=#E60cmLl L3mXK i (EAR=1E60cmKil E=ZF

No EH BE BEc(m) BRAGEARDH) s
vi =A I/%x 5.0 0.60
ub =K T A ¥ 6.5 0.70
J4 =A EF/ ¥ 55 0.80
J11 =A EF/ ¥ 6.3 0.80
J3 =A EF/ ¥ 55 0.90
J5 = EF/ ¥ 55 0.90
Y =R FRAIEF 7.2 1.00
J12 =A EF/ ¥ 6.2 1.10
u5 =K T A ¥ 7.5 1.20
21 =R EXSVRE 75 1.20
&22 =R EXSVRE 85 1.20
j5 =R YA/ 6.2 1.30
u2 =R TAF) 8.2 1.40
&£23 =R EXSVRE 10.0 1.40
£20 =R EXSVRE 9.5 1.50
Q7 =R TIUIhY 48 5.60




17 ZEBBHEREEZHSEHH

HiE-Z%F

HE—H

X AR=HE60cmLl E3mEKiE EAR=HE60cmEKin T=2%F

No ER 1 g ma(m) E () fh AR miE(nd) &%

11 R AXIT 0.7 0.5 2.6
12 PR A XY 0.6 0.5 2.3
13 AR AXIHT 0.6 0.7 2.7
14 PR AXIY 0.8 14 5.2
15 PR AXIT 0.7 0.7 3.1
16 AR AXIT 0.7 05 2.6
17 R AXIY 0.7 0.5 2.6
18 K AXVY 0.6 05 2.3
19 AR A XY 0.6 05 2.3
1 th R HIXIYD 0.7 1.0 38
2 bR AL AP 0.6 0.6 2.5
33 hR TIFIID 0.7 1.7 55
4 R HIXIYD 0.7 0.6 2.8
5 R AL AP 0.8 2.1 7.1
6 PR VAL AP 0.6 40 10.0
vall ER HIXYD 05 05

8 R HYXIYD 0.6 1.7 49
9 PR VAL AP 0.9 0.7 38
%10 =/ N WAVE VAP 0.7 0.5 2.6
H11 hR LA 0.7 05 2.6
12 th R VAL AP 0.7 05 2.6
%13 =/ N WAVE VAP 0.7 0.7 3.1
H14 hR HIXIYD 0.7 0.7 3.1
415 th R AL AP 0.7 0.7 3.1
16 FhoK I IID 0.6 0.7 2.7
H17 th R HIXIYD 0.6 0.7 2.7
18 th R AL AP 0.6 0.7 2.7
519 K VAL AP 0.6 0.7 2.7
20 ER HIXYD 05 0.4

121 N HIXIYD 0.5 0.4

422 hR AL AP 0.6 0.8 30
23 EXR WAVE VAP 0.4 0.4

424 bR HIXIYD 0.6 0.8 30
525 th R AL AP 0.6 0.8 3.0
426 EXR VAL AP 0.5 0.4

27 ER HIXIYD 05 0.4

428 th R AL AP 0.7 40 11.0
29 K TIFIID 0.7 15 5.0
30 ER HIXYD 05 2.2

31 EXR AL AP 0.5 2.0

32 EXR VAL AP 05 1.8

33 EXR WaAVE SV 0.5 1.1

434 hR HIXIVD 0.6 14 43
435 EXR AL AP 0.4 28.0

436 EXR PYXIYD 0.4 0.3

437 R HIXIYD 1.2 430 75.1
438 th R AL AP 1.2 10.3 25.8
39 K TIFIID 0.8 7.4 16.1
40 EXR HIXIYD 05 3.6

41 N AL AP 0.4 6.8

42 K I 0.8 15 55
43 =/ N WaAVE SV 0.8 0.6 2.7
44 hR HIXIYD 0.8 7.6 14.1




17 ZEBBHEREEZHSEHH

HiE-Z%F

HE—H

X AR=HE60cmLl E3mEKiE EAR=HE60cmEKin T=2%F

No ER g ma(m) EE(m) fh AR miE(nd) &%
45 th R AL AP 0.7 23.9 30.7
1 R THALZHXIVD 1.1 1.7 7.6
V2 R THLSHFIYD 1.1 1.0 5.4
V3 PR THLZHFIYD 1.0 1.0 5.0
Wz PR THLSHFIID 0.8 1.4 5.2
V5 R THALSHFIYD 0.6 0.6 25
6 th R THLSHFIYD 0.9 2.4 85
V7 PR THLSHFIYD 0.9 2.4 85
V8 h R TALZHXIVD 1.1 6.5 23.0
Y9 th R THLSHFIYD 10 0.8 44
Y10 PR THLSHFIYD 0.9 2.8 9.6
Y11 hR TALZHXIVD 0.8 15 55
V12 R THLSHFIYD 1.2 14 7.2
Y13 R THLSHFIYD 1.2 1.0 5.8
Y14 PR A LSHFIID 0.9 1.0 46
W15 th R T LSHFIYD 0.8 1.0 42
16 th R THLSHFIYD 0.7 16 5.2
Y17 PR THLSHFIYD 0.8 3.9 8.6
Y18 hR THALZHXIYD 1.3 1.0 6.2
V19 th R THLSHFIYD 1.3 1.0 6.2
20 PR THLSHFIYD 1.3 1.2 6.9
Y21 h R TALZHXIVD 1.3 225 430
V22 th R THLSHFIYD 1.1 1.2 6.0
V23 PR THLSHFIYD 0.7 1.0 38
K1 R NPEPVNP 1.0 0.8 44
K2 h K NwX DA 1.0 0.8 44
K3 PR PPN 0.9 05 3.2
K4 PR NFEPANP 0.9 05 3.2
K5 h K NwX DA 15 1.6 9.4
*1 th R FUEEA 2.0 8.2 28.6
A1 R RZAFAEF 1.6 7.4 10.6
~2 hR RZHTFAEF 1.8 8.9 28.5




BAR-ARER

18 \EFEHBEREEHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EH HiiE Eam)  BAGADH) %

Al B R AF LZH IV 0.6

L2 =2l N aVE VAN 0.6

L48 AR YUY 0.6

D11 [=P YINF 3.0 0.20
D14 = A YINE 32 0.20
i9 =mA VERE 3.0 0.20
v4 = A ThYT 5.0 0.20
L49 AR YUY 0.6

(217 =R Th3IY 40 0.20
L50 K TV 0.6

(235 =R Th3IY 6.0 0.20
D171 =R VARG 35 0.21
D88 =R VRG-S 38 0.24
D89 =R VRG-S 38 0.24
D90 =R VRG-S 38 0.24
D91 =R VRG-S 38 0.24
D92 =R VRG-S 38 0.24
D93 =R VRG-S 38 0.24
D94 =R VRG-S 38 0.24
D100 =R VRG-S 40 0.25
D101 =R YINF 40 0.25
L52 =P/ N WAVE VAL 0.6

D102 =R YINF 40 0.25
D96 =R YINF 40 0.25
D97 =R YINF 40 0.25
D98 =R YINF 40 0.25
D99 =R YINF 40 0.25
j1 =R YA/ 38 0.25
(284 =R Th3IY 40 0.25
c3 =N AONEID 35 0.27
D154 =R YINF 35 0.27
D170 =R YINF 33 0.27
D77 E=% N VAE= 35 0.27
L53 =)/ N WAVE SV 0.6

D78 E=% N VAE= 35 0.27
D79 E=% N VAE= 35 0.27
D80 E=% N YINE 35 0.27
D81 E=% N VAE= 35 0.27
E62 =N FUEGEA 3.2 0.27
D123 =K VIAE= 34 0.28
D12 =K VIAE= 42 0.30
D122 =K VIAE= 33 0.30
D124 =K VIAE= 33 0.30
D13 =K YINE 3.9 0.30




BAR-ARER

18 \EFEHBEREEHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EH HiiE Eam)  BAGADH) %
D150 =K YINF 33 0.30
D176 =K YINF 3.0 0.30
D177 =K YINF 3.0 0.30
D178 =K YINF 3.1 0.30
D18 = A YINE 48 0.30
D182 = A YINE 3.0 0.30
D19 = A YINE 48 0.30
D20 = A YINE 48 0.30
D21 =R VARG 48 0.30
D22 =R VRG-S 48 0.30
D23 =R VARG 48 0.30
D24 =R VARG 48 0.30
D25 =R VRG-S 48 0.30
D26 =R VRG-S 48 0.30
D27 =R VRG-S 48 0.30
D28 =R VRG-S 48 0.30
D29 =R VRG-S 48 0.30
D30 =R VRG-S 48 0.30
D31 =R VRG-S 48 0.30
D32 =R VRG-S 48 0.30
D33 =R YINF 48 0.30
D34 =R YINF 48 0.30
D36 =R YINF 45 0.30
D37 =R YINF 45 0.30
D38 =R YINF 45 0.30
D39 =R YINF 45 0.30
D40 =R YINF 45 0.30
D41 =R YINF 45 0.30
D42 =R YINF 45 0.30
D43 =R YINF 45 0.30
D44 =R YINF 45 0.30
D45 =R YINF 45 0.30
D46 E=% N VAE= 45 0.30
D47 E=% N YINE 45 0.30
D48 E=% N VAE= 5.0 0.30
D49 E=% N VAE= 5.0 0.30
D50 E=% N YINE 5.0 0.30
D51 E=% N VAE= 5.0 0.30
D52 E=% N VAE= 5.0 0.30
D95 =K VIAE= 40 0.30
E40 =R FUEYEA 3.1 0.30
E63 =R FUEYEA 3.4 0.30
E64 =R FUEYEA 33 0.30
g2 = O 4.0 0.30




BAR-PAR-ER RE—E

18 \EFEHBEREEHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

g4 =mA HRE 35 0.30
a2 =mA Ivoa 40 0.30
y9 = A ThYT 6.0 0.30
(295 = A THIY 45 0.30
D172 =K YINF 35 0.33
D173 =K YINF 33 0.33
q6 =mA Ivoa 40 0.33
(220 = A THIY 40 0.33
(243 =R Th3IY 6.5 0.33
g9 =R vt 5.0 0.34
D74 =R VARG 40 0.35
L54 K TV 0.6

D75 =R VRG-S 40 0.35
D76 =R VRG-S 40 0.35
(223 =R ThIY 7.0 0.35
275 =R Th3IY 45 0.35
(293 =R Th3IY 45 0.35
219 =R Th3IY 42 0.38
c2 (=% N AONEID 35 0.40
D15 =R VRG-S 45 0.40
D16 =R YINF 48 0.40
D17 =R YINF 48 0.40
D188 =R YINF 3.0 0.40
D196 =R YINF 3.2 0.40
D240 =R YINF 3.2 0.40
D241 =R YINF 3.2 0.40
D53 =R YINF 5.0 0.40
D54 =R YINF 5.0 0.40
D55 =R YINF 5.0 0.40
D56 =R YINF 5.0 0.40
D57 =R YINF 5.0 0.40
D58 =R YINF 5.0 0.40
D59 E=% N VAE= 5.0 0.40
D60 E=% N YINE 5.0 0.40
D61 E=% N VAE= 5.0 0.40
D62 E=% N VAE= 5.0 0.40
D63 E=% N YINE 5.0 0.40
D64 E=% N VAE= 5.0 0.40
D65 E=% N VAE= 5.0 0.40
D66 =K VIAE= 5.0 0.40
D67 =K VIAE= 5.0 0.40
D68 =K VIAE= 5.0 0.40
D69 =K VIAE= 5.0 0.40
D70 =K YINE 5.0 0.40




BAR-PAR-ER RE—E

18 \EFEHBEREEHREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %
D71 =K YINE 5.0 0.40
D72 = A YINE 5.0 0.40
g10 =mA HX¥ 8.0 0.40
7 =mA VEREP 5.0 0.40
q10 =mA I Ta 7.0 0.40
L58 thR PIXIYD 0.6
ul =mA - 6.0 0.40
vi =K Id3/% 5.0 0.40
y6 = A ThYT 7.0 0.40
y7 = ThTT 7.0 0.40
(244 =R Th3IY 7.0 0.40
(276 =R Th3IY 9.0 0.40
(277 =R Th3IY 6.0 0.40
(281 =R Th3IY 7.0 0.40
(294 =R ThIY 40 0.40
(299 =R Th3IY 40 0.40
L60 K TV 0.6
L61 K IV 0.6
L62 K TV 0.6
L67 K WAVE VAL 0.6
L72 =P/ N WAVE VAL 0.6
L74 =P/ N WAVE VAL 0.6
L75 =P/ N WAVE VAL 0.6
L77 =P/ N WAVE VAL 0.6
L80 =P/ N WAVE VAL 0.6
L81 =P/ N WAVE VAL 0.6
L82 =P/ N WAVE VAL 0.6
L83 =P/ N WAVE VAL 0.6
L86 =P/ N WAVE VAL 0.6
L87 =P/ N WAVE VAL 0.6
L88 =P/ N WAVE VAL 0.6
L89 K WAVE VAL 0.6
L91 =)/ N WAVE SV 0.6
L1 =)/ N WAVE SV 0.7
L3 =)/ N wAVE SV 0.7
L31 =)/ N WAVE SV 0.7
L32 =)/ N WAVE VAL 0.7
L34 =)/ N wAVE SV 0.7
L64 =)/ N wAVE SV 0.7
L66 =)/ N WaAVE VAL 0.7
L69 =)/ N WaAVE VAL 0.7
L71 =)/ N WAVE VAL 0.7
L73 =)/ N WaAVE SV 0.7
L76 R HIXIYD 0.7
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No EH HiiE Eam)  BAGADH) %
L79 thR PIXIYD 0.7
d3 R NZEPANP 0.8
d4 R NZEPANP 0.8
d5 R NZEPANP 0.8
L33 AR YUV D 0.8
L55 thR PIXIYD 0.8
L56 thR PIXIYD 0.8
L57 thR HIXIYD 0.8
L63 K IV 0.8
L65 K TV 0.8
L68 K TV 0.8
d11 R NZEPNP 0.9
d8 R NZEPNP 1.0
d9 R NZEPNP 1.0
D6 == N VIAE S 1.0
D141 hR YINF 1.1
d7 R NZEPRNP 1.1
L17 K IV 1.1
L20 K TV 1.1
L21 K WAVE VAL 1.1
L22 =P/ N WAVE VAL 1.1
L23 =P/ N WAVE VAL 1.1
a2 R ToHA 1.2
d2 K N2 DAV 1.2
D139 hR YINF 1.2
L12 =P/ N WAVE VAL 1.2
x19 hR SYNYYD 1.2
x28 hR SYNYYD 1.2
x8 hR SYNYYD 1.2
al AR ToHA 1.3
d10 K N2 DAV 1.3
E55 hR FUEYEA 1.3
L13 =)/ N WAVE SV 1.3
L8 =)/ N WAVE SV 1.3
d12 Bh K N2 DA 1.4
j18 AR YA/ 1.4
L10 =)/ N WAVE VAL 14
L19 =)/ N wAVE SV 14
L29 =)/ N wAVE SV 14
L9 =)/ N WaAVE VAL 14
x16 R SYNYYD 14
dé th K N R BRI 1.5
E80 R XUEIEA 15
L6 R HIXIYD 15
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No EH HiiE Eam)  BAGADH) %
D103 =K YINF 55 0.45
L7 thR PIXIYD 15
D104 =K YINF 55 0.45
D105 =K YINF 55 0.45
D106 =K YINF 55 0.45
D107 =K YINF 55 0.45
D108 =K YINF 55 0.45
D138 =K YINF 4.2 0.45
E90 =R XUEIEA 3.2 0.45
g6 =R vt 8.0 0.45
ql = A I oa 8.0 0.45
a5 = I oa 6.0 0.45
[Z21 =R Th3IY 9.0 0.45
x2 hR SYNYYD 15
(228 =R ThIY 9.0 0.45
229 =R Th3IY 7.0 0.45
(234 =R Th3IY 12.0 0.45
(245 =R Th3IY 9.0 0.45
x22 hR SYNYYD 15
(269 =R Th3IY 7.0 0.45
(272 =R Th3IY 6.0 0.45
(226 =R ThIY 7.0 0.47
g8 =R vt 45 0.48
a9 =R I oa 40 0.48
(230 =R Th3IY 45 0.48
cl =N AONEID 35 0.50
D180 =R YINF 3.2 0.50
x4 hR SYNYYD 15
x5 hR SYNYYD 15
D145 hR YINF 1.6
D85 hR YINF 1.6
L11 K WAVE VAL 1.6
L14 =)/ N WAVE SV 1.6
L18 =)/ N WAVE SV 1.6
L24 =)/ N wAVE SV 1.6
L25 =)/ N WAVE SV 1.6
L26 =)/ N WAVE VAL 1.6
x11 R SYNYYD 1.6
x14 R SYNYYD 1.6
x17 R SYNYYD 1.6
x18 R SYNYYD 1.6
x21 R SYNYYD 1.6
D140 R YINF 1.7
D142 R YINF 1.7
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No EH HiiE Eam)  BAGADH) %
i10 B R VERE 1.7
L4 thR PIXIYD 1.7
x20 th R IYNYYD 1.7
x29 th R IYNYYD 1.7
x30 th R IYNYYD 1.7
x9 th R IYNYYD 1.7
D4 ==p N YINF 1.8
D5 AR YINE 1.8
D8 ==p N YINF 1.8
J2 R OO0 EF 1.8
L30 K TV 1.8
x1 R SN 1.8
x15 hR SYNYYD 1.8
x26 hR SYNYYD 1.8
x27 hR SYNYYD 1.8
x3 hR SYNYYD 1.8
D205 hR YINF 1.9
E39 hR XUEIEA 1.9
E57 hR XUEIEA 1.9
E89 hR XUEIEA 1.9
E99 hR FUEYEA 1.9
L27 =P/ N WAVE VAL 1.9
D183 =R YINF 3.2 0.50
D187 =R YINF 3.0 0.50
D195 =R YINF 33 0.50
D199 =R YINF 33 0.50
D203 =R YINF 35 0.50
D232 =R YINF 3.0 0.50
D233 =R YINF 3.2 0.50
D235 =R YINF 42 0.50
D238 =R YINF 42 0.50
D244 =R YINF 40 0.50
D249 =K VAE= 34 0.50
D9 E=% N YINE 3.7 0.50
E14 =N FUEGEA 36 0.50
E81 =N FUEGEA 3.2 0.50
gl13 =R HX¥ 40 0.50
17 = AR JA(IT/ 7.5 0.50
J3 =K YO8 +EF 3.2 0.50
m4 =R koA T 55 0.50
) =R koA T 55 0.50
L28 =)/ N WAVE VAL 1.9
y5 = A FThiT 8.0 0.50
(227 = THIY 10.0 0.50
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No EH HiiE Eam)  BAGADH) %
(233 = A THIY 10.0 0.50
d1 R NZEPANP 2.0
E18 B R FUEEA 2.0
E54 AR FUEIEA 2.0
k2 PR EILY 2.0
L15 thR PIXIYD 2.0
L16 AR U UID 2.0
L5 thR HIXIYD 2.0
a4 AR I oa 2.0
t1 K NS 2.0
x10 R SYNYYD 2.0
x12 hR SYNYYD 2.0
x13 hR SYNYYD 2.0
(265 hR ThzY 2.0
D149 hR YINF 2.1
x6 hR SYNYYD 2.1
D137 hR YINF 22
D87 hR YINF 22
z1 AR A<= 2.2
D152 hR YINF 2.3
D197 hR YINF 2.3
D84 hR YINF 2.3
E58 hR FUEYEA 2.3
E85 hR FUEYEA 2.3
D125 hR YINF 2.4
D127 hR YINF 2.4
D174 hR YINF 2.4
e2 hR A 2.4
E42 hR FUEYEA 24
E83 hR FUEYEA 24
E92 hR FUEYEA 24
a8 AR I oa 2.4
s3 AR X 2.4
x7 R SYNYYD 2.4
D147 R YINF 25
D151 R YINF 25
D153 R YINF 25
E46 R XUEIEA 25
E47 R XUEIEA 25
E79 R XUEIEA 25
E84 R XUEIEA 25
E98 R XUEIEA 25
k3 AR EILY 25
D1 R WINFE 2.6
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D200 B R YINE 2.6
D35 AR YINE 2.6
D7 ==p N YINF 2.6
el B R A 2.6
e4 B R ) A 2.6
E95 AR FUEIEA 2.6
E97 AR FUEIEA 2.6
D130 ==p N YINF 2.7
D134 hR YINF 2.7
D201 hR YINF 2.7
D204 hR YINF 2.7
D86 hR YINF 2.7
E45 hR XUEIEA 2.7
E86 hR XUEIEA 2.7
E88 hR XUEIEA 2.7
E93 hR XUEIEA 2.7
E94 hR XUEIEA 2.7
D10 hR YINF 2.8
D120 hR YINF 2.8
D129 hR YINF 2.8
D131 hR YINF 2.8
D135 hR YINF 2.8
D146 hR YINF 2.8
D184 hR YINF 2.8
D186 hR YINF 2.8
D198 hR YINF 2.8
D2 hR WINFE 2.8
D231 hR YINF 2.8
D242 hR YINF 2.8
D3 hR WINFE 2.8
E19 hR FUEYEA 2.8
E41 hR FUEYEA 2.8
L35 ;W N WAVE SV 0.4
L36 ;W N WAVE SV 0.5
L37 ;W N wAVE SV 0.3
L38 ;W N WAVE SV 0.3
L39 ;W N WAVE VAL 0.5
L40 ;W N wAVE SV 0.5
L41 ;W N wAVE SV 0.4
L42 ;W N WaAVE VAL 0.4
L43 ;W N WaAVE VAL 0.5
L44 ;W N WAVE VAL 0.3
L45 ;W N WaAVE SV 0.4
L46 BEXR HIXIYD 0.5
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L47 ER PIXIYD 05
L51 R PIXIYD 0.5
L59 R I 05
L70 ER PIXIYD 0.5
L78 R PIXIYD 0.5
L84 ER PIXIYD 0.5
L85 R PIXIYD 0.5
L90 R HIXIYD 05
(290 =R Th3IY 8.0 0.50
j15 =R YA/ 7.0 0.55
(232 =R Th3IY 15.0 0.55
(282 =R Th3IY 13.0 0.55
m3 = A rohTT 55 0.56
225 =R Th3IY 8.0 0.57
D181 =R VRG-S 35 0.60
D234 =R VRG-S 42 0.60
D236 =R VRG-S 45 0.60
D237 =R VRG-S 48 0.60
D239 =R VRG-S 5.8 0.60
D245 =R VRG-S 46 0.60
D248 =R YINF 34 0.60
D73 =R YINF 40 0.60
e3 =R A 38 0.60
E6 =R FUEYEA 40 0.60
E9 =R FUEYEA 35 0.60
E96 =R FUEYEA 3.1 0.60
g7 =R vt 55 0.60
E43 hR FUEYEA 2.8
E44 hR FUEYEA 2.8
E53 hR FUEYEA 2.8
E56 hR FUEYEA 2.8
E59 hR FUEYEA 2.8
14 = AR JA(I/ 7.0 0.60
mf =R kohTTF 55 0.60
m10 E=% N rOAIT 55 0.60
m6 =R kohTTF 55 0.60
m8 =R kohTTF 55 0.60
E61 R XUEIEA 2.8
E7 R XUEIEA 2.8
E8 R XUEIEA 2.8
E91 R XUEIEA 2.8
D109 R YINF 2.9
D110 R YINF 2.9
D111 R YINF 2.9
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D112 ==p N YINF 2.9
D113 ==p N YINF 2.9
D114 ==p N YINF 2.9
D115 ==p N YINF 2.9
D116 ==p N YINF 2.9
D117 ==p N YINF 2.9
D118 ==p N YINF 2.9
D119 ==p N YINF 2.9
D121 hR YINF 29
D126 hR YINF 29
D132 hR YINF 29
D136 hR YINF 29
D143 hR YINF 29
D148 hR YINF 29
D175 hR YINF 29
D202 hR YINF 29
D82 hR YINF 29
D83 hR YINF 29
E48 hR XUEIEA 2.9
E60 hR XUEIEA 2.9
m9 =R kohTT 55 0.60
o1 =R RAEFTA 10.0 0.60
a3 =R I oa 8.0 0.60
y10 =N ThTT 10.0 0.60
(236 =R Th3IY 12.0 0.60
(248 =R Th3IY 9.0 0.60
(249 =R Th3IY 11.0 0.60
E82 hR FUEYEA 2.9
279 =R Th3IY 11.0 0.60
216 =R Th3IY 12.0 0.65
(222 =R Th3IY 8.0 0.65
(224 =R Th3IY 11.0 0.65
(231 =R ThIY 6.0 0.65
(240 =R ThIY 13.0 0.65
(262 =R ThIY 6.0 0.65
(287 =R ThIY 9.0 0.65
(288 =R ThIY 45 0.65
(291 =R ThIY 10.0 0.65
D185 =R YINF 33 0.70
D243 =R YINF 5.0 0.70
D246 =K VIAE= 46 0.70
E87 =R FUEYEA 3.2 0.70
j6 = A YA/ 8.0 0.70
m2 = koA T 55 0.70
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m7 =K kohTF 55 0.70
(237 = A THIY 10.0 0.70
(280 = A THIY 13.0 0.70
(283 = A THIY 14.0 0.70
(29 =mA THIY 5.0 0.70
(218 = A ThIY 75 0.75
(270 = A THIY 12.0 0.75
(271 = A THIY 13.0 0.75
(286 =R Th3IY 13.0 0.75
D179 =R VRG-S 38 0.80
D230 =R VARG 3.0 0.80
D247 =R VARG 3.2 0.80
E1 =R XUEIEA 40 0.80
E10 =R FUESEA 35 0.80
E11 2R FUEHEA 3.6 0.80
E12 =R XUEIEA 36 0.80
E13 =R XUEIEA 36 0.80
E15 =R XUEIEA 36 0.80
E16 =R XUEIEA 3.2 0.80
E17 =R XUEIEA 3.2 0.80
E2 =R FUEYEA 38 0.80
E3 =R FUEYEA 38 0.80
E4 =R FUEYEA 38 0.80
E5 =R FUEYEA 38 0.80
g5 =R HX¥ 6.0 0.80
w2 =R AT 10.0 0.80
y8 = A ThTT 7.0 0.80
(24 =R Th3IY 8.0 0.80
(25 =R Th3IY 8.0 0.80
(26 =R Th3IY 9.0 0.80
(263 =R Th3IY 5.0 0.80
(264 =R Th3IY 45 0.80
(27 =R ThIY 8.0 0.80
273 =R ThIY 15.0 0.80
(274 =R ThIY 16.0 0.80
(289 =R ThIY 12.0 0.80
(292 =R ThIY 15.0 0.85
g3 = AR HRE 12.0 0.90
J1 = AR YA FEF 48 0.90
5 = A JAIT/ 10.0 0.90
w3 =R ART 8.0 0.90
(210 =R ThIY 6.0 0.90
215 =R ThIY 8.0 0.90
(246 =R ThIY 9.0 0.90
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(247 = A ThIY 12.0 0.90
(285 = A ThIY 12.0 0.95
gl (=% N HRE 10.0 1.00
(213 = A ThIY 9.0 1.00
(23 = A ThIY 10.0 1.00
(278 = A ThIY 12.0 1.00
D144 =K YINF 35 1.05
N1 =mA ohY 8.0 1.20
(21 = A ThIY 10.0 1.20
(211 =R ThIY 9.0 1.20
(22 =R Th3IY 9.0 1.20
(241 =R Th3IY 7.0 1.20
(28 =R Th3IY 8.0 1.20
(X1 =R 20wy 7.2 1.20
i16 = AL/ 10.0 1.30
wi = AT 11.0 1.30
s AR V¥ 2.9
(214 =R Th3IY 7.0 9.00
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No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

71 R FAR)TF 1.2 43.2 149.3
72 hR TAR)FP 0.7 21.6 53.2
73 R TA)F 0.7 48 12.9
74 R FA)F 1.4 3.6 16.5
75 R TA)F 1.6 6.3 29.6
76 R TAR)FP 14 5.0 20.1
11 R AV 0.9 1.2 5.2
12 hAR AXYHT 0.8 40.3 90.5
F1 R FUEIEA 29 156.5 7455
84 EXR AL A% 0.4 28.0

H1 R AL AP 0.8 29.9 47.9
2 R wAVE VAP 0.6 18.6 295
4 R LA 0.6 36.0 73.4
5 R AL AP 1.0 12.6 35.1
9 R WAVE VAP 0.6 16.0 36.4
10 R HUxUUD 0.6 16.0 36.4
11 R LA 0.9 1.0 46
12 R I IID 0.7 10.5 26.6
15 R HUXxIYD 0.7 12.3 31.0
416 R AL AP 0.7 82.4 111.1
H17 R VAL AP 1.9 6.4 26.2
18 R wAVE VAP 1.5 6.0 21.0
419 R AL A% 20 19.2 99.2
420 R AL AP 15 2.5 12.1
21 =/ N WAVE AP 1.0 5.0 143
122 R YYD 0.6 2.0 5.6
423 R AL AP 0.7 3.8 10.6
24 =P/ N WAVE VAP 0.7 27.6 419
425 R HUxUUD 0.7 6.5 16.4
426 R LA 0.8 7.1 19.9
27 K I IIT 0.6 15.4 34.6
428 R YYD 0.7 14.4 35.4
435 R AL A% 0.6 39.7 54.9
436 AR Yo 0.6 26.0 38.2
438 R wAVE VAP 0.6 11.9 25.3
439 R YUY 0.7 20.5 43.4
40 R AL AP 0.7 21.8 44.9
B 41 R wAYE VA 0.6 14.9 28.7
43 R YYD 0.6 11.2 215
46 R AL AP 0.6 7.2 16.8
448 R YUy D 0.7 1.1 40
49 R YYD 0.9 7.8 22.4
51 R LA 0.6 2.9 75
453 AR AL AP 0.6 1.1 3.7
454 R wAVE VAP 0.8 8.8 23.4
456 R LA 0.6 1.0 3.4
57 AR AL AP 0.6 1.0 34
458 R wAVE VAP 0.6 10 3.4
460 R YUY 0.7 1.0 38
61 R AL AP 0.7 1.0 38
62 R WAVE AP 0.6 24.7 50.2
63 R HUxUUD 0.7 432 87.2
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No TR BiE =1 =(m) EAE(n) fr K 5 E () &=
464 fAR AL AP 0.9 1.0 46
65 hR wAVE VA 0.9 10 46
466 R YYD 0.9 1.0 46
67 FAR AL AP 0.6 0.4 2.0
68 R WAVE VAP 0.6 10 34
169 R HUXxIYD 0.6 10 34
+70 R AL A% 0.6 1.0 3.4
H71 R VAL AP 0.6 10 3.4
72 R wAVE VAP 0.6 1.0 34
473 R AL A% 0.6 1.0 3.4
74 AR AL AP 0.6 1.0 34
75 R wAVE VAP 0.6 1.0 34
476 R LA 0.6 46.8 66.7
Y77 R AL AP 0.6 1.0 3.4
78 =P/ N WAVE VAP 0.6 1.0 34
579 R HUxUUD 0.6 10 34
482 R LA 0.6 21.9 47.2
483 R I IID 0.7 0.5 2.6
3 EX HUXxIYD 0.3 0.5
6 ER AL AP 0.4 2.0
7 EAR VAL AP 0.4 5.4
8 EX wAVE VAP 0.5 2.9
13 EX AL A% 0.5 05
14 ER AL AP 0.5 05
429 EXR WAVE AP 0.4 5.2
+30 EX YYD 0.4 33.5
31 EXR AL AP 05 15.2
32 EXR WAVE VAP 0.5 42
433 EX HUxUUD 0.5 55
34 EXR LA 05 12.4
37 EXR I IIT 0.5 115
42 ER YYD 05 40
44 EXR AL A% 05 8.4
45 ER AL AP 0.5 48
47 EXR wAVE VAP 0.5 6.1
450 EX YUY 05 15
452 ER AL AP 0.5 2.9
455 EXR wAYE VA 0.5 15.6
459 EX YYD 0.5 0.6
480 ER AL AP 0.4 0.5
481 EXR AL AP 0.4 05
1 R ALY FIID 0.8 13.0 35.4
V2 R A LZH IV 0.9 14.0 41.0
V3 PR A LZHFIVYY 0.9 7.2 21.6
V4 R ALY FIID 0.8 8.4 22.9
5 R A LZH IV 0.7 15.9 25.1
6 PR A LZHFIVYY 0.8 24.8 64.8
V7 hR ALY TIID 0.8 14.4 39.1
8 R A LSHFIVYD 0.7 13.6 21.2
9 AR A LZHFIVYY 0.7 148 36.9
Y10 R ALY IID 0.7 5.0 13.3
Y11 R ALY XIID 0.9 7.2 21.8
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X AR=1 5 60cm LA _E3mR il {EAR=#E60cmRKii &= F

No TR BiE =1 =(m) EAE(n) fr K 5 E () &=
V12 R A LZHFIVY 0.9 10.1 30.2
W13 hR ALY TIID 0.9 10.4 30.9
V14 R A LSHFIVYD 0.8 15.8 426
V15 FAR A LZHFIVYY 0.8 14.4 275
Y16 R ALY IID 10 41.6 126.8
Y17 R ALY FIID 1.0 5.3 125
V18 R FALZHFIVUY 0.9 3.2 10.8
w19 R ALY IID 0.8 2.0 11.0
20 R ALY FIID 0.8 7.0 22.0
~1 ER (NP AN 0.5 2.0
k2 EXR RoZ o 05 2.5
=1 R SYNYYD 15 6.2 27.9
22 R IYINYYD 1.8 27.0 127.8
33 R IYINYYD 15 8.0 35.0
Z1 a3 N 75.3
22 = TA 25.2
23 a3 N 353.9
4 a3 PZA 141.0
25 <& D7A 3.0
Z6 z% TA 121.0
27 a3 N 17.9
Z8 = DA 190.6
29 z% ITA 109.9
Z10 a3 A 98.2
Z11 a3 DA 23.6
Z12 = TA 105.1
Z13 & N 30.4
Z14 a3 D7A 12.6
Z15 T TA 5.4
216 & PZA 5.4
Z17 = TA 5.8
EMEA EE i 7962.0
AmEB Em iE 861.0




